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10 LET Y=1

20 FOR I=1 TO 60

3 LET Y=Y+2141

40 NEXT 1
50 PRINT “Y="; Y

60 END
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b LET A=1 (& A=g==2"=1)
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20 FOR N=1 TO §0
30 LET A=A#2 (iFa,=a, 2
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40 LET Y=Y+A (y=3%a,)
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50 NEXT N
60 PRINT %Y=", Y
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10 LET A=0

20 FOR N=1 TO 99 STEP 2

30 LET A=A+N¢f2

40 NEXT N

50 LUT B=0

60 FOR N=2 TO 100 STEP 2

70 LET B=B+N1#}2

80 NEXT N

90 LET Y=A-B

160 IRINT “¥="; ¥

110 END
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W LET Y=0

20 EGR N=1TO 100
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43 NEXT N
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10 LET ¥=¢
29 FOR N=1 10 99 5TEP 2
30 LET Y=Y- (CeN+1)
40 NEXT N
50 fRINT *Y=7 Y
60 END
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16 LET A=0
20 FOR IN=1 70 5%
36 LET A=A+N
40 NEXT A
53 LET B=0
60 FOR N=5 TO 9 STYF &
7¢ LET B=B+N
80 NEXT N
0 LET Y=A-B (y=ZA(1)-25{i))
100 PRINT “Y="; Y
119 END
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LET Y=0

FOR N=0 TO 380 STEP 20
LET Y=Y +(N+10)

NEXT N

PRINT “Y=", Y

END
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LET Y=0
FOR N=10 TO 390 STEP 20
LET Y=Y +N

NEXT N

PRINT %Y =7, Y
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10 LET A=0
20 FOR I=1 TO 4 ]
30 FOR 1=1 TO  -90 STEP 10]
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40 LET A=A+J
50 NEXT J i
80 NEXT I ‘ j
70 LET B=0
80 FOR I=¢ TO 9
90 FOR J=1 10 [+90 STEP 1¢
100 LET B=B+J
110 NEXT J
120 NEXT i
130 PRINT “Y="; A+D
140 END
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FOR I=1 TO 99

IT BTN /R33 =1 THEN 50

LET Y=Y+I

NEXT I

PRINT “Y=" Y

END
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LEF V=0
FOR 1=0 TO 19
FOR J=1 TO {
LET Y=Y+ (5+1+J)
NEXT J

NEXT 1

PRINT “Y=", Y
END
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PRINT “N =",

INFUT N (8{SANZHE N
PRINT

LET A=0

LET B=0

LET M=0

FOR I=1 TO N

READ X

IF ¥>C GOTO 110

LET A=A+X (MEZRID
LET M=M+1 (HENEITED
GOTG 120

LET B=8+X (EEEBEM

NEXT I

FRINT %A ="; A, “NUMBIR:"y X
PRINT “B=7; B, “NUMBER:"; N-M
END :
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10 PRINT “X”, *Y”
20 PRINT
3¢ FOR X=0.01 TO 0.02 5TEP 0.001
40 LET Y=3, 14eXsX +5,. 42X +7.5
50 PRINT X. Y
60 NEXT X
70 END
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5 LET I=0 (HERET
10 FOR X=0.¢1 TO 0,02 STEP 0.001
15 LET I=1+1 (B5 w0
20 LET Y=3.14+XsX+5 . 4#X+ 7.5
20 PRINT “X(*yL;*)="X, V("L “)=4" ¥
40 NEXT X
50 END
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PRINT ®X, N",

INPUT X, N

PRINT

LET Y=0

FOR A=1TO N

GOSUB 200 (H#RHEHRD
LET Y=Y+ X {(A+1)/8
WEXT A

TRINT “Y=", Y

END )

REM SUBROUTINE

IoT $=1

PGR H=1 TO A

LET S=S*B

NEXT B

RETURN
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10 PRINT *X; N%

20 INPUT X, N

25 TRINT

4 LET Y=0

50 IET A=l

60 LET W=X

70 FOR I=1TON .

80 IET A=Asl {Rar={(n-1)1-m)

9 LET W=WsX  ORx"=x*7.x)

100 1T Y=Y+ W/A (Hy= 3 -’-‘"”)

=1 L
110 NEXT I
120 FRINT *¥ =", ¥
13 END
B3, HHHBENWTE R,

s ()2

AT
'['(F—_T)‘? Anl
B BEATTE

Gy =lhyy” %

By RS = G-

19



BRWT .

10 FRINT °X, N%
2) INPUT X, N -
22 PRINT

40 LET Y=0

56 LET W=X

6¢ FOR I=1 TO N

70 LET W=We X/1 (Ro,= {,H.g)

80 LET Y=Y+W (;Ryzga_)
30 NEXT I
190 PRINT *Y=" Y )
116G END
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30 PRINT
40 TET A=0
8 |



50 FOR I=1 TO 48N+ 1 STEP {
§2 LET T=1

79 LET S=1

g FOR J=1TO I

99 LET T=T»I

10¢ LET S=8sX

110 NEXT J

120 LET A=A+S/T

130 NEXT 1

140 LET B=0

150 FOR [=3 TO 4«N-1 STEP (
16 LET T=1

170 LET S=1

184 FOR J=1TO I

190 LET T=Ta]

260 LET $=53X

210 NEXT J

220 LET B=B+S/T

230 NEXT I

240 PRINT “SIN("4X;”")=" A-B
250 EXND .
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1¢ PRINT %X, N"

20 INPUT X, N
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30 PRINT
40 LET Y=X (4 y¥ika,=x)
45 LET F=1
(£ F,=1, WMF,=(-1)-F_ =(~1)")
57 FOR I=1 TON
60 LET T=1
70 LET S=1
80 FOR J=1 TO 2«41
80 LET T=TsJ
100 LET S=SsX
110 NEXT J
118 LET F=(~1)sF
120 LET Y=Y+ FsS/T
130 NEXT I
140 PRINT “SIN("3X)®)=" Y
150 END
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10 PRINT “X, N")
20 INPUT X, N
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30 PRINT

40 LET Y=X (& y¥WHERELHE—H )
45 LET F=1

56 LET F=1

60 LET 5=X (a,=x)
70 FOR I=1TO N

80 LET T=Ts(I+ 1}%(I+2)
9 LET S=8+X*X

98 LET F=(-1)&F

160 LET Y=Y+ 5S/T

11¢ NEXT 1

120 FRIMNT *SIN(" X%y ="Y
130 END
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10 LET A=1
20 LET B=1
30 FOR N=1TO 109
40 LET A= A2aN/(2+sN—-1)
50 LET B=BHs2¢N/(2*N+ 1)
80 NEXT N




